

TO VALIDATE, GO TO Certificate Number: GI-COO-50101-66b7670ddab3c

VERIFY.FTGS.US Date: August 10, 2024

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading Long Beach
Irvine CA	Destination Country China	Destination Port TianjinXingang
Consignee Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China	Export Date 2024-08-02	Exporting Carrier N/A
	Import Permit Number N/A	Bill of Lading / AWB 401410342640
	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1515 bales Total: 652.009MT



Description May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Ifalfa Hay	22.507mt	United States
Marks: CAAU6897733 52bales		
Ifalfa Hay	21.410mt	United States
flarks: EGHU9590554 49bales		
Ifalfa Hay	21.056mt	United States
Marks: EITU1824955 49bales		
Ifalfa Hay	21.428mt	United States
Marks: TCNU2137111 50bales		
lfalfa Hay	21.564mt	United States
flarks: EITU1361193 49bales		
Ifalfa Hay	21.292mt	United States
Marks: EGHU8227138 49bales		
lfalfa Hay	22.526mt	United States
flarks: FCIU9797826 52bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.



TO VALIDATE, GO TO Certificate Number: GI-COO-50101-66b7670ddab3c **VERIFY.FTGS.US** Date: August 10, 2024

N/A

Transport Type Port of Loading Vessel Long Beach Healthy Green Life Corporation **Destination Country Destination Port** China **TianjinXingang Export Date Exporting Carrier** N/A 2024-08-02 Inner Mongolia Shengdehetai Trading Co., LTD Import Permit Number Bill of Lading / AWB Station 3E-028, Beixing Lianchuang Center, 401410342640 Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 Owner or Agent Forwarding Agent

Buyer (Importer)

Seller (Exporter)

43 Corporate Park

Irvine

Consignee

CA USA

China

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1515 bales Total: 652.009MT

N/A



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	21.301mt	United States
Marks: EMCU1787351 48bales		
Alfalfa Hay	21.700mt	United States
Marks: DRYU9897108 50bales		
Alfalfa Hay	21.292mt	United States
Marks: EMCU8718856 50bales		
Alfalfa Hay	21.582mt	United States
Marks: TCLU8323116 51bales		
Alfalfa Hay	22.344mt	United States
Marks: EGHU9460313 52bales		
Alfalfa Hay	21.020mt	United States
Marks: FCIU9782106 51bales		DAXIII A
Alfalfa Hay	21.355mt	United States
Marks: EGHU9281961 50bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods. The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in respect of any costs and/or claims made against GIC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein



TO VALIDATE, GO TO Certificate Number: GI-COO-50101-66b7670ddab3c **VERIFY.FTGS.US** Date: August 10, 2024

Transport Type Vessel	Port of Loading Long Beach
Destination Country China	Destination Port TianjinXingang
Export Date 2024-08-02	Exporting Carrier N/A
Import Permit Number N/A	Bill of Lading / AWB 401410342640
Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

Seller (Exporter)

43 Corporate Park

Irvine CA USA

Consignee

China

Healthy Green Life Corporation

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110

> Remarks Total: 1515 bales Total: 652.009MT



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Nfalfa Hay	22.281mt	United States
Marks: EMCU8691800 52bales		
Alfalfa Hay	22.408mt	United States
Marks: TCLU8696418 52bales		
Alfalfa Hay	22.616mt	United States
Marks: EITU1124782 51bales		
Alfalfa Hay	22.408mt	United States
Marks: EGHU9772230 51bales		
Nfalfa Hay	22.272mt	United States
Marks: DRYU9436343 51bales		
Nfalfa Hay	21.301mt	United States
Marks: TGBU6960827 48bales		DAY XXX
Nfalfa Hay	21.319mt	United States
Marks: EGSU9735646 48bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in respect of any costs and/or claims made against GIC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein



TO VALIDATE, GO TO Certificate Number: GI-COO-50101-66b7670ddab3c

VERIFY.FTGS.US Date: August 10, 2024

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading Long Beach
Irvine	Destination Country	Destination Port
CA	China	TianjinXingang
USA		
Consignee Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China	Export Date 2024-08-02	Exporting Carrier N/A
	Import Permit Number N/A	Bill of Lading / AWB 401410342640
	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1515 bales Total: 652.009MT



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	20.974mt	United States
Marks: EITU1398016 50bales		
Alfalfa Hay	21.972mt	United States
Marks: EGSU9761413 52bales		
Alfalfa Hay	21.863mt	United States
Marks: TEMU6092210 52bales		
Alfalfa Hay	22.707mt	United States
Marks: TGBU4354498 52bales		
Alfalfa Hay	20.856mt	United States
Marks: EGSU9255816 50bales		
Alfalfa Hay	21.410mt	United States
Marks: EMCU9882822 50bales		
Alfalfa Hay	21.836mt	United States
Marks: EITU9065407 52bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing
- of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.



TO VALIDATE, GO TO Certificate Number: GI-COO-50101-66b7670ddab3c

VERIFY.FTGS.US Date: August 10, 2024

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading Long Beach
Irvine	Destination Country	Destination Port
CA USA	China	TianjinXingang
Consignee Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China	Export Date 2024-08-02	Exporting Carrier N/A
	Import Permit Number N/A	Bill of Lading / AWB 401410342640
	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1515 bales Total: 652.009MT



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	22.135mt	United States
Marks: EMCU9822886 52bales		
Alfalfa Hay	21.274mt	United States
Marks: BSIU9512350 50bales		
end of products	====	
	N NAME AND	



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing
- of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.

COMMERCIAL INVOICE

Invoice No.

SD-202407015

Date:

7/18/24

Shipper/Exporter:

Healthy Green Life Corp 1152 S Roughcut Dr Casa Grande, AZ 85194, USA Consignee:

INNER MONGOLIA SHENGDEHETAI TRADING CO.,LTD

Station 3E-028,

Beixing Lianchuang Center,

Hohhot Comprehensive Bonded Zone,

Huimin District, Hohhot,

Inner Mongolia

Contract No.: SDHT-HGLC2024-6

Booking No.: 401410342640

Country of Origin: USA

Discharge: TianjinXingang, China

ETA: 9/7/24

Vessel:EVER FRONTVoyage No.:1358-027WShipping Line:EvergreenPort of Loading:LONG BEACH, CA

ETD: 8/2/24
Price Terms: CIF

Container No.	Seal#	Product	Bales	Net Weight (MT)	Unit Price USD/MT	Amount (USD)
BSIU9512350	A1619719	Alfalfa Supremi	50	21.274	\$390.00	\$8,296.86
CAAU6897733	A1619746	Alfalfa Supremi	52	22.507	\$390.00	\$8,777.73
DRYU9436343	A1619702	Alfalfa Supremi	51	22.272	\$390.00	\$8,686.08
DRYU9897108	A1619649	Alfalfa Supremi	50	21.700	\$390.00	\$8,463.00
EGHU8227138	A1619692	Alfalfa Supremi	49	21.292	\$390.00	\$8,303.88
EGHU9281961	A1619644	Alfalfa Supremi	50	21.355	\$390.00	\$8,328.45
EGHU9460313	UL-9161171	Alfalfa Supremi	52	22.344	\$390.00	\$8,714.16
EGHU9590554	A1619742	Alfalfa Supremi	49	21.410	\$390.00	\$8,349.90
EGHU9772230	A1619515	Alfalfa Supremi	51	22.408	\$390.00	\$8,739.12
EGSU9255816	A1619603	Alfalfa Supremi	50	20.856	\$390.00	\$8,133.84
EGSU9735646	A1619660	Alfalfa Supremi	48	21.319	\$390.00	\$8,314.41
EGSU9761413	A1619653	Alfalfa Supremi	52	21.972	\$390.00	\$8,569.08
EITU1124782	A1619517	Alfalfa Supremi	51	22.616	\$390.00	\$8,820.24
EITU1361193	A1619696	Alfalfa Supremi	49	21.564	\$390.00	\$8,409.96
EITU1398016	A1619658	Alfalfa Supremi	50	20.974	\$390.00	\$8,179.86
EITU1824955	A1619745	Alfalfa Supremi	49	21.056	\$390.00	\$8,211.84
EITU9065407	A1619720	Alfalfa Supremi	52	21.836	\$390.00	\$8,516.04
EMCU1787351	A1619650	Alfalfa Supremi	48	21.301	\$390.00	\$8,307.39
EMCU8691800	A1619596	Alfalfa Supremi	52	22.281	\$390.00	\$8,689.59
EMCU8718856	A1619647	Alfalfa Supremi	50	21.292	\$390.00	\$8,303.88
EMCU9822886	A1619713	Alfalfa Supremi	52	22.135	\$390.00	\$8,632.65
EMCU9882822	A1619601	Alfalfa Supremi	50	21.410	\$390.00	\$8,349.90
FCIU9782106	A1619645	Alfalfa Supremi	51	21.020	\$390.00	\$8,197.80
FCIU9797826	A1619699	Alfalfa Supremi	52	22.526	\$390.00	\$8,785.14
TCLU8323116	A1619648	Alfalfa Supremi	51	21.582	\$390.00	\$8,416.98
TCLU8696418	A1619595	Alfalfa Supremi	52	22.408	\$390.00	\$8,739.12
TCNU2137111	UL-9161172	Alfalfa Supremi	50	21.428	\$390.00	\$8,356.92
TEMU6092210	A1619651	Alfalfa Supremi	52	21.863	\$390.00	\$8,526.57
TGBU4354498	A1619606	Alfalfa Supremi	52	22.707	\$390.00	\$8,855.73
TGBU6960827	A1619703	Alfalfa Supremi	48	21.301	\$390.00	\$8,307.39
Total Value:		.	1,515	652.009		\$254,283.51

Commodity	Crude Protein	Moisture	RFV	ASH
Alfalfa Hay(Supreme)	>=22	<=14	>=185	<=12

GREEN COLOR, LITTLE TO NO BLEACH, NO MILDEW, NO DIRT.

PACKING: FIT FOR OCEAN TRANSPORTATION AND NON WOOD PACKAGING, EACH BALE IS APPROX. 420-460KG

